i!l READTHEORY

» Sentence Completion 3 Lever2

Directions: Complete the sentence using the word or set of words for each blank that best fits the

meaning of the sentence as a whole.

1. Esteban

playground yesterday.

went
had
made
cried

OCOow>

2. Rachel
yesterday.

A. taught
B. learned
C. bought
D. learned

3. Molly waffles for
breakfast yesterday.

read
ate
took
talked

oOOow>

4. Yesterday, Connor

new word.

A. bought
B. took
C. learned
D. ate

5. Last week, Kerry
pasta for dinner.

cooked
spoke
learned
took

COow>

a new computer

Name

Date

6. Casey a dog when
he was a little boy.

ate
was
made
had

00>

7. 1 to go to the beach
yesterday.

was
watched
wanted
listened

oOwp

8. Emily’s cat away last
month.

had
studied
ran
talked

00>

9. 1t a lot during last
week’s storm.

A. rained
B. talked
C. learned
D. took

10. Yesterday, Will to his
mother on the telephone.

was
had
walked
talked

o0 >



Answers and Explanations

1) A
Esteban went to the playground yesterday. Choice (A) is
correct.

(B) is incorrect because Esteban cannot have to the
playground yesterday.

(C) is incorrect because Esteban cannot make to the
playground yesterday.

(D) is incorrect because Esteban cannot cry to the
playground yesterday.

2) C
Rachel bought a new computer yesterday. Choice (C) is
correct.

(A) is incorrect because Rachel cannot teach a new
computer.

(B) is incorrect because Rachel cannot sell a new
computer.

(D) is incorrect because Rachel cannot learn a hew
computer.

3) B

Molly ate waffles for breakfast yesterday. Choice (B) is
correct.

(A) is incorrect because Molly cannot read waffles.

(C) is incorrect because Molly cannot take waffles.

(D) is incorrect because Molly cannot talk waffles.

4 C

Yesterday, Connor learned a new word. Choice (C) is
correct.

(A) is incorrect because Connor cannot buy a new word.
(B) is incorrect because Connor cannot take a new word.
(D) is incorrect because Connor cannot eat a new word.
5 A

Last week, Kerry cooked pasta for dinner. Choice (A) is

correct.

(B) is incorrect because Kerry cannot speak pasta for
dinner.

(C) is incorrect because Kerry cannot learn pasta for
dinner.

(D) is incorrect because Kerry cannot take pasta for dinner.

6) D

Casey had a dog when he was a little boy. Choice (D) is
correct.

(A) is incorrect because Casey cannot eat a dog.

(B) is incorrect because Casey cannot be a dog.

(C) is incorrect because Casey cannot make a dog.

7 C

| wanted to go to the beach yesterday. Choice (C) is
correct.

(A) is incorrect because you cannot be to go to the beach.

(B) is incorrect because you cannot watch to go to the
beach.

(D) is incorrect because you cannot listen to go to the
beach.

E)mily(‘:s cat ran away last month. Choice (C) is correct.
(A) is incorrect because Emily’s cat cannot have away.
(B) is incorrect because Emily’s cat cannot study away.
(D) is incorrect because Emily’s cat cannot talk away.
9) A

It rained a lot during last week’s storm. Choice (A) is

correct.

(B) is incorrect because it cannot talk a lot during last
week’s storm.

(C) is incorrect because it cannot learn a lot during last
week’s storm.

(D) is incorrect because it cannot take a lot during last
week’s storm.

10) D
Yesterday, Will talked to his mother on the telephone.
Choice (D) is correct.

(A) is incorrect because Will cannot be to his mother on the
telephone.

(B) is incorrect because Will cannot have to his mother on
the telephone.

(C) is incorrect because Will cannot walk to his mother on
the telephone.



